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He began with a pit an ended with a wall - ®M52 2799 M2 D

Overview

The miwn states that one should not dig a pit near his friend’s =13, unless he
distances his pit from his friends wall three 2°9v. The X713 asked why does he
begin by mentioning 712 and concluding by saying a wall. »aX answered that the
mwn means from the wall of the 712. There is a dispute between *"w1 and NdOIN as
to what the X713 says next.
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After the X923 answered, 12°1w 1712 Ynon, in 2"'w=p the text of the X7n3 continues

and asks, so let the mwn state ‘unless he distances from his =12’ -
- 2UA9RY 1199 AN 1IN)

And this does not appear to be correct, as I will explain -
- Y393 o191 19 ONX NIN 23599 HMHa 0DY 9923 NN NY ©I) 9N 19 993 9N

And if there is such a 80933, this is how it should be read; he begins with =12
and ends with ®n>, but her should have taught, ‘unless he distanced himself

from his ™2’ -
- S9N33M 13539 W15 TINN ¥HYM 199

And so it seems from the ''o of the 1''™ -

Mmoo anticipates a difficulty with his (and the s'1"9) proposed X077
= °2N12 00 722 NN 7299 I (8,15 97 8P Na3) *n93n wr9a1 2) by 9Ny

And even though that in the beginning of mi»7 p7o, when the X723 asks a

similar question; ‘he began with a jug and concluded with a barrel’; the x

there -
- 7’519 199 Yya PN ON)y "5’ BrON NP NY

' See 1" 7" >"wA. The Xm3 is asking (according to this Xo7°3), why does the 7w state ">non' and we interpret it
to mean 17112 7n197, when it can state explicitly "1712n".

5mon 7" 'oIna.

’ mpoin is saying if such a question (1112 n12» *1n°91) does appear in the X3, it should appear in the following
manner.

* It should be one long question; first stating the problem (why m>22 001 Ma2 nno) and then offering a suggestion
what the 73wn should have said. But not like >"wA9 that after we asked 191 71122 nno and answered that 1371w 12 2Man,
we go and ask (again) 11127 P> 3"RR 179

> Presumably '01n means that the 1" agrees with the 72 073 %377 712 073 °X), that the question of 1122 "In°%1 is written in
conjunction with the question of 121 1122 nno, but not after the answer of 11°1w 112 HMon (as >"'wA is 0.

® The 7awn there states; 21 nYan >ya 2 PT10 ORY MWD 772w 72 5PDJ1 AR X217"772 7957 DX 1.
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Does not conclude, ‘but it should have taught ‘and if he was damaged the
owner of the jug’, etc. is liable’ -

mooIn responds:
198D DINYDY THIND DINYD NN “MY X9HN PYY PN

The language of the X923 is not the same everywhere, but rather sometimes he
elaborates, and sometimes he abbreviates.

Summary
The question of '712n 1n°%Y', according to >"wA is asked after the answer of Snon'

"1 1712; while according to nvoN, if anything, it is asked in conjunction and as
an elaboration of the initial question %n152 0*01 7122 nnd (but not as an independent
question after the answer of "21w 12 YMon').

Thinking it over
mooin asks why here the X713 adds the suggestion (of 11127 *10°7Y), while in s,

the X7»3 does not add 2r 7271 5¥2 121 21n°1.” Seemingly we can differentiate, that
there the X m3 cannot say (with surety) 7271 9v2 *1n°9, for perhaps the *1n°»1 should
be n°2an7 N 1937 2109 (instead of 7271 NX 1°177); however here the X 13 is sure that
it should state 127 (instead of 17°2n YMon). What is n190n question?

7 We see from there that the syntax of the X3 is to merely pose the question and not offer the suggestion how it
should be written (since that is obvious from the question), so why here does n1v01n ‘condone’ (as well as the 11"7)
writing the suggestion after the question (since this suggestion is obvious)?! See “Thinking it over’.

¥ Therefore we cannot ask this type of question.

? See footnote # 7.
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